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I.  Atternpt al l  q uest ions.
2. Figures to the right indicate full marks
3. Each section should be written in a separate answer book

SECTION-I
Q-I. (A) 

Fr:lHlj...:""r 
system. Discuss the r.eason f:,r 11. r.,"",.on of uplink and downlink I 4 l

(B) Explain rhe following equation and each term olthe equation:
D= tr + tup + tj+ tdo*n f ts *to
Calculate tr to t ransmit  an ATM cel l  at  a 6 MbiVs l ink.

t4 l

(c) Explain the differences between sate ites with transparent and onboard switchi'g | 4 Itechniques.

OR
Q-1. (A)

(B)
Discuss the diffe.ences betweerr satclite netr.vorrring & terrestriar networking issues. I 1 ISuppose 24 independent anarog voice channers ar.e 

-connected 
," ,r,'. irp,,i 

"FrJbr. ,n. i I Imultiplexer samples the first channer an<i converts this anarog sarnpre'into an 
"q,, i"^r.. i  

t '
digital signal of 8 bits and this procedure is repeated for tot;i 24 channels. Each frameconsists of24 channers sampred and I extra framing bit. If TDM have the frame rate of8000 frarnes per second, then what is the bir rate tbr ilis f.OV in vUpsf
Assurne that you have to design 

l 
rut.oT systetn for the applica^tions which may generate [ 4 ibLr.sty traffic and content coLiid be sinrpre iext or murti'redia. sLrggest the modificationsrequired at each layer of the network protocor stack with crifferent options for underryingtechnologies. In your opinion, what wouid be the best design option?

Q-2' (A) What do you mean by burst error? Discuss the impact of satellite burst errors on the [41ATM layer.
(B) Suppose host A is sencring a rarge fire to host B over a r-cp connection. r'he two end I 4lhosts are 20 msec apart (40 rsechTT) connected by a r cbps rink. Assume that they areusrng a packet s ize of  r000 bytes ,n t ransrni t  the f i re.  Arso assume for s inrpr ic i ty thatACK packets are extremely srnall anrj can be ignored.

i  At least how big wourd the wincrow sizel in packets) have to be fbr the channet
utilization to be greater than g0o%.

i i  AssLrnr ing inf in i te in i t iar  threshord, no Iosses and oompet ing rr .ar l ic,  approximarery
how long ( in seconds) woLrrd i t  take fbr the normar srow staf t  nrechanism to
achieve 80% ut i  l izar ion?

v
(c)

\.,,
(C) Differentiate ceosynchronous & Non-Geosynchronous orbit in details

l J

OR
Q-2. (A) Differentiate Synchronous & Asynchronous transfer mode.

(B) A data link protocol has the following char.acteristics:
l J

[ 4
200 bytes
8 bytes
4 Mbit/s
8 bytes
0.30 nrs

i. Estimate the maximum possibre efficiency of this system ir.the protocor operates
..  in a s irnple 'stop & rvai t ' r ranncr Ltsing posi t ive acknowlecigmenrs.
i i .  In orcier to maximize l ink el l ic iency the stop & rvai t  protoco- l  is to be changed

into a sl id ing window pt.otocol ,  Flst intate an appropr iate window size.

Data length
Header Iength
Channel capacity
Acknowledgement. lralne Ien gth
Service & propagation delay
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Q-3.

Q-4. (A)

(B)

(c)

Q-4. (A)
(B)

Q-s. (A)
(B)

(C) Describe in brief:

(A)

L ttcD

. i i .  tcpdumo
Answer the followinp

;Tffi '.',,' i"rrf i[: F:l:.,,n :1,-" 1,]l:, -:nn s, a r ion & ea n
i*l= r ; ;t;: i iH Tlilfl.,1 l::';lil f i,;ij,:, -ll lilidx s ::"[T *, :.',?
s,.,[[1'*:;#;fl:lil,i- & pER in re,a,ion ro,he rengrh 

",;::J;:''"ion 

or.rt"

i;, lii,1!"Tll# ;:.,?ff :.i.,;:,,,

can we use standard Tcp ,o, ,, 

tt"tto*-tt

Difrerentiate TCp Reno and ̂ ."t""t 

networks? Justify your answer'

;H[:ii::l,i:f,*ffii:[:J;{;' 
*''"' Discuss theperrormance issuesor',^,',

I12I

(B)
(c)

Describe f( p charac{crisrics rl 

oR

;ffi::1hli1""iJ.i,#i,j1il :ffi l.,nffi :,;1ffi;.,.":.11fi ,il; n,"",,"
Explain TCp enhancement for soi"u" rr'.,on"fr #iTH: ;illlf ,1g:i[iff:.";,i:l"J;'3ilf,i*il;",,

I2t

l 6 l
l 6 l

t6 l '
ts l

Is l

141
t2l

T4I

I4l

\

Q-5. (A) Whar is rhe need,^ ,_ OR

(B) n*:i:tn;liJ,li;lii 
*'rCP wesmood Discuss rhe perrormance issues orrcp

(c) rili, *" lil,i,"jll^estimation technique.

e-6' 
r a , *:^y.:" *" 

","*"*.ot'*""n 

TCP spoofing & TcP spliltinS'

rA, 
;;ilir. 

rhe approach-of Tcp Hybia. whar are rhe
(ts) Describe a tuansport ,.*r."n,"_*^_. :-.:t 

tne performance issues with TCp

(c) ;:il,3[,niX*'""-d:!:J#,li"'*'ror 
the saterrite nqtuo,k which does not

iuj t*;;,;';l+f iffijll l::::,' iss,es ar rranspod layer.
seslnenr can o. or.',1i#'l'"l!.t.,;fi'"il';,,.;:',"il. ,f,,.,n. ,.r,n.n, loss. l he ross or rhelo delect the reason lor rhe rori 

"lirr" *g,"J"cttor' 
Suggesr u r..rtun;r, orl, ,oot*.n

\,
I2 I
I 2 l

END OF PAPER
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